NS DO/

DENVER VIBRATOR

25463000

12103034-M

RG6001

Threads

LH: Left Hand
RH: Right Hand

RG6031

20015100

RG6032

33642603

oo

12103008

RG6013

RG6008 BR129

RG6010 ‘
25603000 A\ |
\T‘% -

RS114

RG 60 - Universal Vibrator - 110V - 60Hz

RG6001 | Eccentric Barrel RG6005 Armature

H253 Nut 12103034-M | 8-32 X 4.75 MS Bolt
20015100) 5/8 - 18 Jam Nut 25603000 #8 Internal Lock Washer
RG600 RG6002 RG6031 Motor Barrel & Stator
H256-B Female Driver RG6032 Insulator Strip

RS114 “0” Ring RG6008 Brush

H260-B Male Driver RG6007 Brush Holder Assembly
RG6004 Center Connector RG6010 Bearing Retainer

H260 Male Driver H268 Snap Ring

BR129 Motor Bearing RG6013 Hose Connector
25463000| #8 Split Lock Washer 33642603 Binding Head Screw
12103008 8-32 X 1/2 Rd Head

Revised 11-2019




